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Tabulat10n of	 Refraotive Bending{11 
100	 representative day. 

iJY Orote Reber~~ .f 
'i ~ 
'j 1. Mon'~ 
~	 .~ ~ 

Joi f~-
.-J~);,J 

- ~~ ~ Total to top Atmo8. 

i .....ti 1 Up to 3.066 n. 
_1 1t_~ Above 3.066 km. 

~( 1 '1
 
i'~
 

~ JI~r:' ~ ~	 Total to top A"moa • 

.,( i. l! Up to 3.066 k,.. 

gi~ ~
 
1 

1'; I"
~ 

~ 

~. 

4f~l· '.

'~J~ f
I~ 
~ 

Above ~.066 km. 
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-Bend1ns	 Scatt.~ ~_ "1!ebd1ng Scatter 
Halt ofl!1ll.l.e .~ .-- -"	 Mi111.. H.lf .ef

-radian. '1&lue8 l·'radians Valu•• 

, Sea Incideno, Angle 0.00 Dilgree. 
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16.21 1'1.49,-1.30 18.91 ';'0.71,-0.99 

11.40 ~lw55.-1130 fO.~4,-l.18 

4.66 ~o.a,,~O.lS 7'0.26,-0.31 

, S" Incidence Angle 1.42 Degree. 

8.88 "0.32.-0.26 _\ ~ 9.18 ~0.,al,-O.18 

4.84 ~O.28,-o.30 ~.OO +0.19,-0.20 

3.98 ~O.26_-0.10 4~15 fO.aa.-o.14 
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In my opinion t~e calculation of prob~le erro~ has no 
meaning in ~hiB.?,tY'Pe of.stu.dy. Undoubtedly there are errore 
1n measurement. :HQwever the~e are so small oompared, to the 
variation of the,phenomenon in question that they have no .ffeot.' Beyond the .boy. inf'ormat1on ~benext question 1s: Is the 
dtstrlbution of values ·s tatistloal. or notl ' This can only be 
determined by plotting on pro~Ut7 paper. '1'0 a. first 
approx~mation tbe answer is yea.' the next questioa 1s where 
is moat of the &o~tte;.in~t~e bending? From the abOYe table 

1 
"i<' it is below 3.066 kll. Finally, How dOes the SC)1Ltt'e-r vart wlth 

~ ~ db alt1tudel From tbe aboye table it can· be seen that the sca'ter 
~ ~ ~ decrea8es rapi4~y w~th'alt1tDde; infaot muoh mGre r,apidly than 

§ t!:t the mag:nltude vf the bending. 

~ f _SO P.S. Your value of ~.2· or 9.2~ is not probable error. To 
~ get probable error one muat'~no~ the &ve~age deviat10n and f~vlde 

~ ~ It by the square ~t of the number or ooservatlons. I don t 

~ ~ ~ ~ know what the A.D. '1a. but 1t most certainly 1s dlfferent than 
__~ ~: the range with1n whloh balf the values tall a8. tabulated above .. 

~ ~ ~ I believe the A.D. w11l be substantially larger. 




